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=2 EAE 3| = (v [F] | HB|Z BB | Tools  Sign | Gomment
...~ 0.06021 Al PI ]
x=22=y~3.06021 ALS PL ft numerical error
2nd increment is 0.2 1g 2.2 ml consistent with first one
g ..~ 0.06848 Al PI
x=24=y~3.12869~3.120 AlS 6| ft numerical error
Total [
3P -n=3 -3 M1
At least one linear factor found ml
S0P =Lnm+1)@En+1-3) ml OE
L+ Dn-1) Al 4
Total 4
4
stated or used Bl Condone decimals and/or degrees until
final mark
Appropriate use of Bl
Introduction of 2nm M1 H
Division by 3 M1 Ofa+knmor=a+kin
L2
x=xl+Znm Al 5
Total 5
5)() 01 M1 ML if 2 entries correct
M= [71 0} A21 | 3 | MIALf3 entries correct
G| , [-1 0] A
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e 2N slie| = (v [F] | HB|Z & G| Tools  Sign | Gomment
() | Critical values x=—1, 0 and 1 Bl 1
Solution set—1 <x<0,x> 1 MIAL | 3 | MIifone part correct
or consistent with ¢'s graph
Total 10
6@ | (2r-1) =4 —4r+1 Bl 1
()| Y(2r-1y=43r -4 r+ 31 M1
45 4
. mlAl
ELIRELAY
Si-n Bl
Result convincingly shown Al 5 |ac
() | Sum=£(100) - £(50) M1AL M1 for 100 = 1 and 50 = 1
... =1166 650 A2 4 | SCH100)—(51)=1156449: 344
Total 10
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